KANSAS CORPORATION COMMISSION RIGIN

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

| M | Form ACO-1 |
|-------|--------------------|
| 11 | September 1999 |
| //F | form Must Be Typed |
| 10/08 | almoloa |
| Ψį | (122107 |

| 33699 | API No. 15 - 063-21716-0000 |
|---|---|
| Operator: License # | County: Gove |
| Address: 3711 Maplewood Ave, Suite 201 | SW_SW_NE_SW_Sec. 24 Twp. 13 S. R. 30 East West |
| City/State/Zip: Wichita Falls, TX 76308 | 1,357 feet from S/ N (circle one) Line of Section |
| Purchaser: Coffeyville | 1,521 feet from E /(W) (circle one) Line of Section |
| Operator Contact Person: Hal Gill SEP 2 2 2008 | Footages Calculated from Nearest Outside Section Corner: |
| Phone: (940) 691-9157 ext 113 | |
| Contractor: Name: American Eagle Drilling Co. | Lease Name: James P. Losey Trust Well #:4 |
| License: 33493 | Field Name: Gove Northeast |
| Wellsite Geologist: Jim Musgrove | Producing Formation: Mississippian |
| Designate Type of Completion: | Elevation: Ground: 2826' Kelly Bushing: 2831' |
| New Well Re-Entry Workover | Total Depth: 4728' Plug Back Total Depth: 4603' |
| ✓ Oil SWD SIOW Temp. Abd. | Amount of Surface Pipe Set and Cemented atFeet |
| Gas ENHR SIGW | Multiple Stage Cementing Collar Used? ✓ Yes ☐ No |
| Dry Other (Core, WSW, ExplanCathodica etc) | If yes, show depth setFeet |
| If Workover/Re-entry: Old Well Info as follows: | If Alternate II completion, cement circulated from 2311' |
| Operator: SEP 2 2 2008 | feet depth to Surface w/ 435 sx cmt. |
| Well Name: | , |
| Original Comp. Date: Original Total Depth: | Drilling Fluid Management Plan AHT NHU 34-08 (Data must be collected from the Reserve H) |
| Deepening Re-perf Conv. to Enhr./SWD | Chloride content ppm Fluid volume bbls |
| Plug Back Plug Back Total Depth | Dewatering method used |
| Commingled Docket No. | |
| Dual Completion Docket No | _ |
| Other (SWD or Enhr.?) Docket No | Operator Name: |
| 7/6/08 7/13/08 8/13/08 | Lease Name: License No.: |
| Spud Date or Date Reached TD Completion Date or | Quarter Sec TwpS. R East West |
| Recompletion Date Recompletion Date | County: Docket No.: |
| | |
| Kansas 67202, within 120 days of the spud date, recompletion, wor Information of side two of this form will be held confidential for a period | with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, kover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. I of 12 months if requested in writing and submitted with the form (see rule 82-3-logs and geologist well report shall be attached with this form. ALL CEMENTING wells. Submit CP-111 form with all temporarily abandoned wells. |
| All requirements of the statutes, rules and regulations promulgated to renerein are complete and correct to the best of my knowledge. | egulate the oil and gas industry have been fully complied with and the statements |
| Signature / W | KCC Office Use ONLY |
| Title: KS, Area Engineer Date: 9-22- | Letter of Confidentiality Received |
| Subscribed and sworn to before me this 22 day of September 1 | , \', |
| | Wireline Log Received RECEIVED |
| 20 08. Sun of The Hear | Geologist Report Receive RANSAS CORPORATION COMMIS |
| Notary Public: Jusan O Van Lyuss | UIC Distribution |
| Date Commission Expires: 11/ay dlg, 2010 | SEP 23 2008 |

| Operator Name: | T Engineering, Inc | D | | Lease | Name: J | ames P. Lose | y Trust | Well #:4 | - |
|--|--|-----------------------|---------------------------------------|--------------------------|--------------|----------------|---|------------------------|--------------------|
| Sec24 Twp13 | | | ✓ West | County | /:Gov | е | | | |
| INSTRUCTIONS: Show tested, time tool open a temperature, fluid recov Electric Wireline Logs s | and closed, flowing ery, and flow rates | and shut if gas to | -in pressures, v surface test, al | vhether sh ong with f | nut-in pre | ssure reached | static level, hydro | ostatic pressure | es, bottom hole |
| Drill Stem Tests Taken (Attach Additional Sh | eets) | [Y | es No | | ⊘ Lo | | tion (Top), Depth a | and Datum | Sample |
| Samples Sent to Geolo | | □ Ye | es 🗸 No | | Name Heeb | | | Top 3847' | Datum -1016 |
| Cores Taken | | □ Ye | es 🗸 No | | Lansi | ng | | 3884' | -1053 |
| Electric Log Run (Submit Copy) | | ✓ Y | es No | | i | Kansas City | | 4180' | -1349 |
| List All E. Logs Run: | | | | | Pawn | ee | | 4300' | -1469 |
| LIST AII E. LOGS Hall. | | | | | Ft. So | cott | | 4365' | -1534 |
| DI, CDL/CNL, N | /IL, Sonic | | | | Missi | ssippian | | 4462' | -1631 |
| | | | | | Viola | | | 4581' | -1750 |
| | | | | | Arbu | kle | | 4633' | -1802 |
| | | | CASING I | | ✓ Ne | | ation ata | | |
| | Size Hole | | rt all strings set-c | Wei | | Setting | Type of | # Sacks | Type and Percen |
| Purpose of String | Drilled | Se | t (In O.D.) | Lbs. | /̈Ft. | Depth | Cement | Used | Additives |
| Surface Pipe | 12 1/4" | | 5/8" | 23# | | 248' | COM | 175 sx 50 sx/125 sx | 3% cc, 2% gel |
| Production String | 7 7/8" | 5 | 1/2" | 15.5 | ** | 4644' | CL A | | |
| DV Tool | | | | | | 2311' | CLA | 435 sx | 5# gil, 1/4# flo-s |
| | , | | ADDITIONAL | CEMENTI | NG / SQL | EEZE RECOR | ID | · | |
| Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone | Depth Top Bottom | Туре | of Cement | #Sacks | s Used | | Type and | Percent Additives | |
| Shots Per Foot | | | RD - Bridge Plug Each Interval Per | | | | acture, Shot, Cemer Amount and Kind of M | | d Depth |
| 2 | 4497' - 4510' | | | | | 2500 gals 15 | 5% NE/DSFE | | |
| | | | | | | | | | |
| TUBING RECORD | Size 2 7/8" | Set At 4530' | | Packer / None | At | Liner Run | Yes 🗸 No | 0 | |
| Date of First, Resumerd F 8/15/08 | Production, SWD or E | nhr. | Producing Met | nod | Flowing | y 🕢 Pumi | ping Gas L | ift 🔲 Otho | er (Explain) |
| Estimated Production Per 24 Hours | Oil 15 | Bbls. | Gas 0 | Mcf | Wate 241 | r | Bbls. | Gas-Oil Ratio | Gravity |
| Disposition of Gas | METHOD OF C | OMPLETION | 1 | L | | Production Int | erval | | |
| Vented Sold | ✓ Used on Lease nit ACO-18.) | | Open Hole Other (Speci | ✓ Peri | f. 🗀 C | ually Comp. | Commingled . | | |

24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Cementing & Acid 114880

7-5-08 Vendor.

l'onth Due 135187

G. L5010 . l ::e_ INVOICE

Invoice Number: 114880

Invoice Date: Jul 5, 2008

Page:

B)

SIN TO:

TNT Engineering, Inc. 3711 Maplewood Suite #201

Wichita Falls, TX 76308





| f | Well Name ## or Everomer P.O.# *********************************** | Paymetri | |
|-----------------|--|------------------------|------------------|
| TNT | James Losey Trust #4 | Net 30 | Days |
| ্ৰাতি নিক্সাবাদ | Centip Location | ··· Some of the second | ાં તાલુકાલા ભાવા |
| KS1 | Oakley | Jul 5, 2008 | 8/4/08 |

| ં ભારાના તેમ |)Kem- | Desemption : 40nterne | Amount |
|---------------|----------------|---|--------------------------------|
| 175.00 | MAT | Class A Common 14.20 | 2,485.00 |
| 3.00 | MAT | Gel 18.75 | 56.25 |
| 6.00 | MAT | Chloride 52.45 | 314.70 |
| 184.00 | SER | Handling 2.15 | 395.60 |
| 25.00 | SER | Mileage 184 sx @.10 per sk per mi 16.56 | 414.00 |
| 1.00 | SER | Surface 917.00 | 917.00 |
| 25.00 | SER | Mileage Pump Truck 7.00 | 175.00 |
| | | KCC SEP 2 2 2003 CONFIDENTIAL | |
| | | RE KANSAS CORF | CEIVED ORATION COMMISSION |
| | | SEP | 2 3 2008 |
| | | | VATION DIVISION IICHITA, KS |
| ALL PRICES AR | E NET, PAYABLI | E Subtotal | 4,757.55 |
| 30 DAYS EQUA | OWING DATE OF | Color Tour | 201.24 |

30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF





201.34 Sales Tax **Total Invoice Amount** 4.958.89 Payment/Credit Applied

ALLIEL CEMENTING CO., LLC. 31545 REMIT TO P.O. BOX 31 SERVICE POINT: RUSSELL, KANSAS 67665 3/08 CALLED OUT LOCATION GOVE 45 TO ROO, 6W, Nixto WELL# OLD OR NEW (Circle one) Same 4 meri **OWNER** CONTRACTOR **CEMENT CASING SIZE DEPTH TUBING SIZE DEPTH DEPTH** · DEPTH COMMON **MINIMUM SHOE JOINT POZMIX** CEMENT LEFT IN CSG GEL **CHLORIDE** DISPLACEMENT ASC @ **EQUIPMENT** @ RECEIVED FE IQUON KANSAS CORPORATION CO PUMP TRUCK # リンユ CEMENTER_ **HELPER BULK TRUCK** CONSERVATION DIVISION® DRIVER WICHITA, KS DRIVER HANDLING_ MILEAGE . OG+ SK /mile **SERVICE** DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE ___ MANIFOLD _ @ @

CHARGE TO: TNT Engineering STREET ___ _ZIP_ CITY_ _ STATE _

PLUG & FLOAT EQUIPMENT

To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.

PRINTED NAMELATING HINCLEY lifes

TYPE OF JOB

HOLE SIZE

DRILL PIPE

PRES. MAX

MEAS. LINE

TOOL

PERFS.

| | @ <u></u> | , |
|--------------------|--------------|---------|
| | @ | |
| | @ | |
| | @ | |
| | TOTAL | |
| SALES TAX (If Any) | | |
| TOTAL CHARGES | | |
| DISCOUNT | IF PAID IN 3 | 30 DAYS |



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3887 Fax: (785) 483-5566

Bill To:

TNT Engineering, Inc. 3711 Maplewood Suite #201 Wichita Falls, TX 76308



Invoice Number: 115059

Invoice Date: Jul 13, 2008

Page: 1



| TAMEFLOSEY TRUST #4 | | | | | | | |
|---------------------|-----------------------------|--------------|----------|--|--|--|--|
| Customer ID | Well Name# or Customer P.O. | Paymen | t Terms | | | | |
| TNT | James Plasey Tr ## | Net 30 | Days | | | | |
| Job Location | Camp Location | Service Date | Due Date | | | | |
| KS1 | Oakley | Jul 13, 2008 | 8/12/08 | | | | |

| | | 7.22.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2. | | |
|----------|------|--|----------|-----------------------|
| Quantity | ltem | Description | | Amount |
| 450.00 | MAT | Lightweight Class A | 12.65 | 5,692.50 |
| 2,250.00 | MAT | Gilsonite | 0.89 | 2,002.50 |
| 112.00 | MAT | Flo Seal | 2.25 | 252.00 |
| 530.00 | SER | Handling | 1.90 | 1,007.00 |
| 25.00 | SER | Mileage 530 sx @.09 per sk per mi | 17.70 | 1,192.50 |
| 1.00 | SER | Production String - Top Stage | 1,075.00 | 1,075.00 |
| | | SEP | 9 9 2330 | |
| | | | | |
| | | CON | | |
| | | | " | |
| | | , 4) | | |
| | | 10000 | | |
| | | Voucher LD Inv 1/3037 | - | |
| | | Vendor | KANDAO O | RECEIVED |
| | | , 10659.61 Disc | NANSAS U | ORPORATION COMMISSION |
| | | Dige 7/30 Month | - S | EP 23 2008 |
| | | G 1.30/1 Sub \$ 1 Lse 135/ | | |
| | | ^ | AFE CON | SERVATION DIVISION |
| | | the state of the s | /// 6 | WICHITA, KS |
| | | | | |
| | | $\langle h, h \rangle$ | | |
| | | | | |

ALL PRICES ARE NET, PAYABLE
30 DAYS FOLLOWING DATE OF
INVOICE, 1 172% CHARGED
THEREAFTER. IF ACCOUNT IS
CURPENT, TAKE DISCOUNT OF

ONLY IF PAID ON OF BEFORE

Aug 12, 2008

| Subtotal | 11,221.50 |
|------------------------|-----------|
| Sales Tax | 560.26 |
| Total Invoice Amount | 11,781.76 |
| Payment/Credit Applied | |
| TOTAL | 11,781.76 |

ALLIEC CEMENTING CO., LLC. 31714

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT:

| NUSS. | ELL, KAI | 13A3 0700 | 33 | | | OGKL | .ey |
|--|---------------|---------------|-------------------|------------------|-------------------------|---------------------------------------|--------------|
| DATE 2-13-08 | SEC. | TWP. | RANGE 30W | CALLED OUT | ON LOCATION | JOB START | JOB FINISH |
| James Plasey | WELL# | U. | | ove 45 6w N | | COUNTY | STATE |
| OLD OR NEW (Cir | ' | 7 | LOCATION | 73 Colu /V | inTO | Gove | |
| | | | 10 0 | 1 | | | |
| CONTRACTOR A | meric | an Ea | | OWNER | same, | | |
| TYPE OF JOB Pro | DOUCT H | | 100 stag | CEMENT | | | |
| CASING SIZE -5 | 72 | T.D. Def | | | RDERED 450 | che 1 d | |
| TUBING SIZE | / | DEF | | | nite 14 | | |
| DRILL PIPE | | DEF | | <u> </u> | mi) C /4 | 760 364 | |
| TOOL DV | | | TH 23// | | W 6000 | | |
| PRES. MAX | | | IIMUM | COMMON | MES | @ | |
| MEAS. LINE | | SHC | DE JOINT 42. | | SEP 2 2 2008 | | |
| CEMENT LEFT IN | CSG. | 42.44 | | GEL | 9890 0212 3 may be 20 o | | |
| PERFS. | | | | CHLORIDE | | · · · · · · · · · · · · · · · · · · · | |
| DISPLACEMENT | <u> </u> | 5 1300 | <u>L</u> . | ASC | | @ | |
| | EQU | IPMENT | | Lite | 450 SK3 | _@ <i>.[2.65</i> | 5692.50 |
| | | | 1-26 | - Gilsonit | e 2250# | £@ -89 | 2002,5 |
| 1 20 000 | CEMENT | ALV | drew | | | _ | |
| BULK TRUCK | HELPER | MU | | - Floseal | - 1/2 # | @ 2, 25 | 252.00 |
| | DRIVER | John | | | | @ | |
| BULK TRUCK | JRIVER | ONN. | | **** | 100 000 000 | @ | |
| | DRIVER | LONN' | 6 | | | _ @ | |
| 210 - | ZICI V LJIC | <u> Com</u> | | — HANDLING | 550 SKS | @ ,1.90 | 100700 |
| | DEA | AADIZC. | | MILEAGE _ | 1 sk/mil | | 1192.50 |
| 11 0 4 | KEN | ARKS: | - (1 h | | | TOTAL | 1014650 |
| flug Kat | hole | /5 | SIS MIL | | | | |
| 435 300 6 | -170 | down | | | SERVI | CE | |
| wash fan | e pl | | e clear | | | , | |
| Du mal | 1900 | S T | ement d | DEPTH OF JO | | | 104 100 |
| Circulat | O I | 00#- | 1 FT | 101111 111001 | CHARGE | | 1075 = |
| Pressure | 12/ | off 1 | and a | EXTRA FOOT | AGE | _@ | 4.7 |
| <i>y</i> -33 <i>u</i> · 3 | Λ) ε | r r | i area | MILEAGE 2 | | | N/C |
| Minteres and Minte | 7 | trans | 4 404 | — MANIFOLD _ | | | |
| | | C | 0 | | | _@ | |
| CHARGE TO TH | To | | malana pana | | | _ @ | |
| CHARGE TO: TN | 1 20 | GINER | ring inc | | | | 107500 |
| STREET | | | | | | TOTAL | 1019 |
| CITY | STA | TF | 71D | | | | |
| CIT I | 517 | \1 L | ZIF | | PLUG & FLOAT | EQUIPMEN | T |
| | | | | | | | |
| | | | | | | _@ | |
| | | | | | | | |
| To Allied Cementi | ng Co., L | LC. | | | | | |
| You are hereby req | - | | enting equipmen | t - | | _@ | |
| and furnish cement | | | | | | _ @ | |
| contractor to do wo | | | | as | | | |
| done to satisfaction | n and sup | ervision o | of owner agent or | • | | TOTAL | |
| contractor. I have | read and | understan | d the "GENERA | L | | | |
| TERMS AND CO | NDITION | NS" listed | on the reverse si | de. SALES TAX (I | (f Any) | | |
| | ρ . | \wedge | | TOTAL CHAR | GES | | |
| PRINTED NAME | Kit. | \mathcal{A} | 0.0 | | | | |
| TATALLED HAMILE | \triangle | 7 /01 | 7 | DISCOUNT _ | | IF PAID |) IN 30 DAYS |



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

TNT Engineering, Inc. 3711 Maplewood Suite #201

Wichita Falls, TX 76308

INVOICE

Invoice Number: 115058

Invoice Date: Jul 13, 2008

Page:

1



| | TOMES | COMBINE | / lielati vi ti |
|---------------|------------------------------|--------------|-----------------|
| Customer ID:: | Well Name/# or Customer P.O. | Paymen | t-Terms- |
| TNT | James P Losey ¼ #4 | Net 30 | Days |
| Job Location | Camp Location | Service Date | Due Date |
| KS1 | Oakley | Jul 13, 2008 | 8/12/08 |

| Quantity = | Item | Description | Unit Price | Amount |
|---------------|----------------|--|-----------------|-----------|
| 4.00 | MAT | Gel | 18.75 | 75.00 |
| 125.00 | MAT | ASC Class A | 16.75 | 2,093.75 |
| 50.00 | MAT | Lightweight Class A | 12.65 | 632.50 |
| 12.00 | MAT | Salt | 21.80 | 261.60 |
| 875.00 | MAT | Gilsonite | 0.89 | 778.75 |
| 12.00 | MAT | Flo Seal RECEIVE | D 2.25 | 27.00 |
| 228.00 | SER | Handling KANSAS CORPORATION | COMMISSION 1.90 | 433.20 |
| 25.00 | SER | Mileage 228 sx @ 09 per sk per mi Production String - Bottom Stage | 20.52 | 513.00 |
| 1.00 | SER | Production String - Bottom Stage | 1,969.00 | 1,969.00 |
| 25.00 | SER | Mileage Pump Truck CONSERVATION | DIVISION 7.00 | 175.00 |
| 1.00 | SER | Manifold Head Rental WICHITA, I | S 100.00 | 100.00 |
| 1.00 | EQP | Packer Shoe | 1,491.00 | 1,491.00 |
| 1.00 | EQP | Latch Down Plug Assembly | 462.00 | 462.00 |
| 1.00 | EQP | D V Tool | 4,500.00 | 4,500.00 |
| 4.00 | EQP | Centralizers | 57.00 | 228.00° |
| 4.00 | EQP | Baskets Voucher Inv //30 | 186.00 | 744.00 |
| | | Vendor 1929 Date | 3 | |
| | | Ami 1383).42 Disc | | |
| | | Due 7/30 Month | E187 (R) | |
| | | 3 50/1 Sub 130/3 | 516/ (3) | |
| | | 19 | AFE | |
| ALL PRICES AF | RE NET, PAYABL | E Subtotal | 1 | 14,483.80 |

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE

Aug 12, 2008

Subtotal 14,483.80
Sales Tax 796.20
Total Invoice Amount 15,280.00
Payment/Credit Applied 15,280.00

ALLIEC CEMENTING C)., LLC. 31713

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

| DATE 7-13-08 SEC. TWP. 13s | RANGE 30 w | CALLED OUT | 2,00 Fin | JOB START | JOB FINISH フ! Jo P ~ M |
|---------------------------------------|-----------------|--------------------|--|---------------------------|------------------------------------|
| and use, | GOV- | e dint | | COUNTY | STATE |
| OLD OR NEW (Circle one) | LOCATION 45 | 60 Ninto | <u>) </u> | Gorc | 1,70 |
| OLD OR NEW Clicle offe) | | | | J | |
| CONTRACTOR American Ea | gle Rig / | OWNER Sa | me, | | |
| TYPE OF JOB Production (13 | otton stage |) | | | |
| HOLE SIZE 7 1/8 T.D. | 4728", | CEMENT | | ا ما | |
| CASING SIZE 5/2 DEP | | DERED <u>50 54</u> | | | |
| TUBING SIZE DEP DRILL PIPE DEP | | 14 Plo-sec | #Culscrite | SKS ASC | onside |
| TOOL DV DEP | | mgel 5 | 62/136/11 | | <i>6-13/8</i> e |
| | IMUM | COMMON | | _@ | |
| MEAS. LINE SHO | E JOINT 42,44 | POZMIX | | @ | |
| CEMENT LEFT IN CSG. 42,44 | ···· | GEL _ | 1585 | _@_18.75 | 7500 |
| PERFS. | | CHLORIDE _ | | _@ | 2227 |
| DISPLACEMENT 189.44 CR | BL 39,44 W | Jeasc 125 | 555 | | 2093,78 |
| EQUIPMENT | 33 /// | Lite 50 | cks | -@-12.i <u><</u> | <u>632.50</u> |
| | | Lije 30 | | | <u></u> |
| PUMPTRUCK CEMENTER And | 11/2/\/ | Salt | 12 SKS | @ 21.50 | 261.60 |
| #423-281 HELPER ALV | | | | @ | |
| BULK TRUCK #394 DRIVER 5 | Lasep 2 2 2000 | Gilsonite | 825-4 | _@ <u>-89</u> _ | 778,75 |
| BULK TRUCK | 000 A0.215 | | 10-16 | - [@] ^ _ | . 0. 5 |
| # 218 DRIVER LONN | ie | Flo-seal | | _@ <i>_Z_</i> _25 | 37.00 |
| | | HANDLING | 4 SK/mile | _@ <i>1.</i> 90 | , 433.20 - <i>5/3.0</i> 0 > |
| REMARKS: | | WILLEAGE _D (| 4 Shine | | 4814.80 |
| Mix a sks gel 50sks | 140 | | | ТОТАЦ | |
| 125 sks Asc wash | | SERVICE | | | |
| Line clean, displace plug | | | | | |
| Plug Landed and h | ald 4000 | DEPTH OF JOE | 4641 | | |
| Lift pressure plug | PUMP TRUCK | CHARGE | | 196900 | |
| 90000 open OV TOO | of 1200th | EXTRA FOOTA | | _ @ | |
| | G | MILEAGE 2 | | @ <u> </u> | 103.00 |
| tha | ak you | MANIFOLD 4 | ead revice | _@ | 100,00 |
| | O | | | _ @ _ @ | |
| CHARGE TATE | Same | | | | |
| CHARGE TO: TNT Engineer | ing the | | | ТОТАІ | 224400 |
| STREET | | | | IOIAL | 3011 |
| CITYSTATE | ZIP | | | | |
| | | - 1/2 P | LUG & FLOAT | EQUIPMEN | T |
| | | 5/2 | | | |
| | | Packer. | | _ @ | 1491.00 |
| | _ | & Latch do | wn plug B | <u> </u> | 462,00 |
| To Allied Cementing Co., LLC. | | UN 100 | Lizers | _@_ | <u>4500,00</u> |
| You are hereby requested to rent cem | 0 1 1 | 11 Packet | 75 TS | | 744.00 |
| and furnish cementer and helper(s) to | assist owner or | 7 | | - 10010c | |